Momneon 60dnro2vin can

Tycraap TOrTHOJIBIH OJIMMOINAJ

1. Hypw 6oqur x,y # 0 xyBba xf(x) — yf(y) = xyf (E) buenmar 6yx f: R — R
Y

byHKIHIHIT 0J1.

2. ABC rypsamxkuasl BC tan g39p D a1 aBa ABD, AC' D rypBa/KHYyABID Xapraa3aH wy,
we ToitporT H6arraas. wiNAC = E # A w,NAB=F # A, BENCF =0, EFNAO =T
6on BC' 1 DT rax baras.

3. Depsr Gyxas n Gypuitn xysb 2" | 19% + 21 Gaiix sepsr 6yxs k 01J10HO 9K GaTall.

4. HaTypaJy TOOH OJIOHJIOTHITH 3apUM TOOHYYIBIT yaaH eHreep Oyaas. AJib 9 mapaajicaH
2019 Too aBaxa/1 T3/II9PIIC sijlazK HAI Hb yJlaaH OHIUITH Too Oafiar 00J1 H3T' Hb HOIOOTee
XyBaaJiar Xoep yjaaaH TOO OJIJIOHO I'3K OaTal.



